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3.4.1Measuring Inequality & Poverty

Inequality and Poverty Terminology

Equality describes situations where economic outcomes are similar for different people or different
social groups
= Income equality would mean everyone, irrespective of theirjob, is paid the same
= |nequality in the distribution of income is one cause of absolute and relative poverty
Equity refers to the idea of fairness and is a normative concept
= Equity in the distribution of income means that there is fairness in the wage differentials that exist
in society e.g. those with higher qualifications or skills are paid more than those with less
= The size of acceptable wage differentials is a matter of much debate
Income and wealth inequality are two different concepts
= Incomeinequality refers to the unequal distribution (flow) of income to householdsi.e rent,
wages, interest and profit
= Wealthinequality refers to differencesin the amount of assets that households own
Absolute poverty is a situation where individuals cannot afford to acquire the basic necessities fora
healthy and safe existence
= These necessities include shelter, water, nutrition, clothing and healthcare
= In2022, the World Bank defined absolute poverty as anyone who was living onless than $1.90 a
day (the so calledinternational poverty line)
= Absolute povertyis more prevalent in developing countries thanin developed ones
Relative poverty is a situation where household income is a certain percentage less than the median
household income in the economy
= Povertyinahouseholdis consideredrelative toincome levels in other households
= Households that are living with less than 50% of the median household income are considered to
beinrelative poverty
= Relative poverty is the main form of poverty that occursin developed countries
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Measuring Inequality: The Lorenz Curve and Gini Coefficient

The two main measures of income inequality are the Lorenz Curve and the Gini coefficient

The Lorenz Curve

The Lorenz Curveis a visual representation of the income inequality that exists between households in
aneconomy
Datais commonly presented in quintiles (population divided into 5 groupsi.e 20%) or deciles
(population divided into 10 groupsi.e 10%)
= E.9.in2020, 49% of theincome flow in Bolivia went to the top 20% of households while only 4%
went to the bottom 20%
Perfectincome distributionis not the goal (20 % of the population gets 20% of the income; 40% gets
40% percent of theincome etc.)
= Thatwould equate to socialism and completely remove incentives for work as everyone would be
paid equally
More equalincome distribution is desired as it reduces poverty and social unrest
= What constitutes acceptable income equality is a normative economicissue
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Anillustration of Income Inequality for Bolivia (blue line) and Sweden (red line) and the UK (yellow line)
using a Lorenz Curve Model. The income distribution in Bolivia is more unequal than that of Sweden

Diagram analysis

= Theline of equality represents perfect income distribution (not desirable)

= |nBoliviathe bottom 20% of households receive 4% of the income flow while in Sweden they receive
9% of the income flow

= |nthe UK the top 10% of households receive 45% of the income flow while in Sweden they receive
25%

= Swedenhas a more equal distribution of income than the UK

The Gini Coefficient

= TheLorenzcurve canbe used to calculate the Gini Coefficient
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The Gini Coefficient is calculated using the area beneath the line of equality

Diagram analysis

= Gini Coefficient =
A+ B

= Arepresentsthe areabetween the line of equality and Bolivia's Lorenz curve
= Brepresentsthe areaunderthe Lorenzcurve
= Avalue of O represents absolute equality (socialism) and 1represents perfectinequality
= |n2017,Estonia's coefficient was 0.3 as compared with a value of 0.62 in South Africa
= Thedistribution of income in Estonia was more equitable thanin South Africa
= Governments use progressive taxation and transfer payments to shift the Gini coefficient closer to
zero
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@ Worked example ,

Your notes
Using a Lorenz curve diagram, explain what happened to income inequality in Bolivia between 2008

and 2016 [4]

Income Gini Coefficient Data for Bolivia

Income Gini Coefficient
2008 0.51
Income Gini Coefficient 2016 0.43

Step 1: Determine if inequality has improved or worsened
The closer to zero, the closer the country is moving to perfect equality.

The situationin Bolivia has improved so the Lorenz curve is moving closer to the line of
perfect equality

Step 2: Draw and label the Lorenz Curve for each year
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(2 marks fora correctly labelled diagram with a shiftinwards of the Lorenz curve)
Step 3: Withreference to your diagram, explain what has happened to the income inequality
between the two time periods
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The closer the Gini coefficientis to zero, the more equal the distribution of income in a country. (1)
Bolivia's Gini coefficient has moved closerto zero indicating that there is lessincome inequality in
2016 than there was in 2008 and this s illustrated by aninward shift of the Lorenz curve towards the
line of perfect equality (1)

Measuring Poverty

= There are many single indicators of economic development. These canbe used to compare the
relative standing of countries at any pointintime. They also serve to provide targets forimproving the
lives of citizens. Examplesinclude
= Energy consumption perperson
= The proportion of the population with access to clean water
= Number of girls completing primary education
= Anothersingleindicatoris the International Poverty Line (IPL)
= Thisis the absolute minimum level of income that a person must receive in order to meet the basic
needs required for human survival - currently $1.90 a day
= The Minimum Income Standard (MIS) is another useful indicator
= The Minimum Income Standard (MIS) identifies the lowest amount of income needed for what
society views as an acceptable standard of living in the country
= Thevalue differs fromregiontoregion as adjustments are made for those living in urban versus
rural areas due to the different costs of living associated with each
A composite indicator can provide more meaningful data for comparisons between countries
= Oneuseful composite indicatoris the Multi-dimensional Poverty Index (MPI)
Characteristics of the MPI

1. Launchedin 2010 by the Oxford Poverty and Human Development Initiative at the University of
Oxford
2.The MPluses a survey to measure the complexities of poor people’s lives, individually and collectively,
eachyear
3. The MPltracks deprivation across three dimensions and 10 indicators
= Health (child mortality, nutrition)
= Education (years of schooling, enrolment)
= Living standards (water, sanitation, electricity, cooking fuel, housing, assets)
4. The survey firstidentifies which of these 10 deprivations each household experiences
5.Households are then categorised as poor if they suffer deprivations across 1/3 or more of the
weighted indicators
6.The MPIcanfocusinonregions, ethnicities and also any of the three dimensions
7.This adaptability makes it a useful tool for policymakers and non-government organisation (NGOs)
working to reduce poverty
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Difficulties in Measuring Poverty /

= Poverty is multi-dimensional concept and difficult to quantify Your notes
= Povertyis usually measured through self reported surveys and this gives rise to multiple discrepancies
in - and between - countries
= Households who identify as poor may exhibit very different characteristics from each other
= Urbanhouseholds may have very different ideas of their poverty level compared to rural households
= Urban areas tend to have higherimmigrant households whose status can change relatively quickly as
they seize opportunities
= Rural households may remainin long-term poverty
= Poverty data for different ages, genderand disabilities is not easily available
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3.4.2 Causes of Inequality & Poverty /

Your notes
The Causes of Inequality and Poverty
Causes of Poverty

= There are many causes of poverty. However, poor countries have several common characteristics,
which can be summarisedin a poverty cycle diagram

GROWTH DEVELOPMENT
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SAVING PRODUCTIVITY

Poverty is caused by a lack of both economic growth and human development

= Low wagesrepresent the intersection of economic growth and human development and are the major
cause of poverty
= Low wages are usually the result of unemployment, informal employment, a lack of skills, ora
primary sector based economy
= Education and healthcare cost money and with lower wage levels these are not accessible, resulting in
poor human capital
= People findit harderto stay well or to recover fromillness resulting in lower productivity and
shorter life expectancy
= Low productivity results in low wages and the cycle continues
= Populations with alarge number of dependents (old people and children) for each working household
tend to experience higher levels of poverty

Causes of Inequality
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= There are numerous factors that cause wealth and income inequality

= |tis generally true that developed countries have alargertax base and are able to provide a betterlevel

of support to the poorest households in the economy, than developing countries are able to
Causes of Wealth and Income Inequality

Cause

Explanation

Differences in human capital

The higher the skill level, the higher the level of income
A country with a poor education system will see greater
inequality than one with a good education system

Inequality of opportunity

Access to education and health can vary significantly within
communities and between different regions

Inequality in education and healthcare leads to inequality of
opportunity in the job market

Different levels of resource
ownership

Assets generate income
The more equal the asset ownership inan economy the less the
inequality inincome distribution

Discrimination

Gender, race - or any other discrimination increases income
inequality inan economy

Unequal status and power

Countries with strong trade union membership provide workers
with more power and higher levels of income

With low trade union membership, the exploitation of workers
through low wages is easier and income inequality is worse

Government tax and benefits
policies

Countries that provide arange of benefits (such as
unemployment, pension, disability, child support, housing
support etc) raise the income of the lowest 20% of the
population resulting in more equal distribution

Progressive tax systems allow allincome earners to contribute to
public revenue according to their ability

Decreasing taxes on the lowerend and increasing it on the upper
end would mean that the system is more progressive and there
would be a more equal distribution of income

Clobalisation and technological
change

Globalisationis the economic integration of different countries
throughincreasing freedoms in the cross-border movement of
people, goods/services, technology and finance
Thisintegration of global economies has impacted national
cultures, spreadideas, speeded up industrialisationin

Page10of 16

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers

4

Your notes


https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

developing nations and led to de-industrialisation in developed ,
nations
= Countrieswhich are more isolated will experience higherlevels Your notes

of wealth andincome inequality

Market based supply-side policies| = Supply-side policies such as deregulation, privatisation and
trade liberalisation can provide great opportunities but also
increase inequality

= E.g.Privatisation of state owned assets often allows a few
people to getrich (those who buy the asset) and the service
provided by the newly privatised firm may become more
expensive to access
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The Costs of Income and Wealth Inequality

= Capitalismis at the heart of free market economics
= Under Capitalism, inequality is inevitable
= Workers with higher skills receive higherwages
= Workers with little to no skills receive little to no wage
= |ndividuals with higherincome will acquire more assets leading to higherlevels of income
= |nturn, they can keep onacquiring assets
= [ndividuals with lowerincome will find it hard to acquire assets
= The principles of capitalism are considered important as the incentive to acquire income raises
productivity and output
= However, the long-term outcome of capitalismis that the factors of production become
concentrated in ownership with relatively few individuals developing extreme wealth, at the expense of
many who lose out

The costs of inequality

1.Impact on economic growth
= Atsome point,increasing levels of inequality becomes a disincentive for workers to work and be
productive
= This means that some resources (labour) in the economy are not being used efficiently. National
output falls and economic growth slows
= Governmentunemployment payments and welfare benefits may increase
= Government tax revenues may decrease with increasing inequality
2.Impact onliving standards
= |ftheinequality gap grows, therich getricherand the poor, relatively poorer
= Overtime, this willreduce the standard of living
= The wealthier willaccess better education and healthcare, creating even less opportunity for
poorer householdsin the future
3.Impact on social stability
= More equal societies tend to be more stable, tolerant and considerate, with lower levels of crime
and better standards of living
= |essequalsocieties tend to be characterised by political instability, strife, and social unrest, and in
extreme cases, this canlead torevolutions
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3.4.3 Using Taxation to Reduce Inequality & Poverty

The Role of Taxation

= The main source of government revenue is taxation
= Taxationisused toredistribute income so as to reduce income inequality in a nation

Types of taxes

= Directtaxes are taxes imposed onincome and profits
= They are paid directly to the government by the individual or firm
= E.g.Income tax, corporation tax, capital gains tax, national insurance contributions, inheritance tax

= Indirect taxes are imposed on spending
= Theless aconsumer spends the lessindirect tax they pay
= Examples of indirect taxinclude Value Added Tax (19% VAT rate in the European Unionin 2022),
taxes on demerit goods such as excise duties on fuel or cigarettes

Types of tax systems

= Taxsystems canbe classified as progressive, regressive or proportional
= Most countries have a mix of progressive (direct taxation) and regressive (indirect taxation) taxesin
place

An Explanation of tax Systems

System Explanation Diagram

Progressive | = Asincomerises, alarger percentage
ofincome is paid in tax

= |nthediagram, when personalincome
rises fromY;to Y2, the taxraterises
fromTR;to TRy

TAX RATE (2)

INCOME
LEVEL

Regressive | = Asincomerises, a smaller percentage
ofincome is paid in tax

Page130f16

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers

4

Your notes


https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

Inthe diagram, when personalincome
rises fromY;to Y2, the taxrate falls
fromTR;to TRy

Allindirect taxes are regressive

Inthe USA, Federal income taxis
progressive but almost all State taxes
are regressive (the bottom 20% of
income earners pay as much as 6x the
% of theirincome than the top 20%)

TAX RATE (2)

- i el —

1
1
1
1
!
Y, INCOME

LEVEL

Proportional

Asincomerises, the same percentage
of income is paidin tax

Inthe diagram, when personalincome
rises from Y to Y2, the taxrate remains
constantat20%

In2022, Bolivia was using this system

TAX RATE (2)

20

with a proportional tax rate of 13%

2 INCOME
LEVEL

The link Between Taxation & the Reduction of Income Inequality & Poverty

Progressive taxation

A progressive tax system redistributes from
those with higherincome to those with lower
income and reduces income inequality
Redistribution often starts with the provision
of free education and healthcare

Many governments use tax revenues to
provide multiple levels of financial support
to poorhouseholdsincluding disability
payments, heating subsidies, travel
subsidies etc.

Sometimes the benefits of agood
progressive tax system are eradicated by
the penaltiesimposed through multiple
regressive (indirect) taxes

Higherredistribution
— better
education/healthcare —
better human capital —
better productivity — higher
income
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3.4.4 Other Policies to Reduce Inequality & Poverty

Other Policies

= The poverty cycle diagram (below) was introduced in the previous subtopic and helps to explain the

causes of poverty

= Any policy that helps to break the poverty cycle at any point will help to improve the standards of

living within a country

= Policies usedto alleviate poverty include promoting economic growth, improving education,

providing more generous state benefits, progressive taxation, and the establishment/increase of a
national minimumwage

LOW
INVESTMENT

GROWTH

LOW
ECONOMIC
GROWTH

LOW
SAVING

POVERTY

OF EDUCATION
TRAP AND HEALTH
CARE

LOW
WAGES

AN

DEVELOPMENT

LOW LEVELS

LOW LEVELS
OF HUMAN
CAPITAL

PRODUCTIVITY

Policies which help to improve any factorin the diagram will help to alleviate poverty

How Different Policies Alleviate Poverty

Policy

Explanation

Impact on Poverty Cycle

Investing in human capital
e.g. education

= |nvestingin this supply-side policy Higher education/skill levels
increases the potential output of the country| — higher human capital —
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(shifts the production possibility frontier

increased productivity —

outwards) higher output — higher
income
More generous transfer Transfer payments are usually given to the More benefits — higher
payments poorest and most vulnerable peoplein wages — better

society

Transfer paymentsinclude unemployment
and disability payments, pension payments,
heating discounts, public transport
subsidies etc.

education/healthcare —
better human capital —
better productivity — higher
wages

Establishment/increase
of national minimum
wage

Minimum wages are set above the free
marketrate

Firms are not allowed to pay anyone less
than the legal rate

Higher wages — better
education/healthcare —
better human capital —
better productivity — higher
wages

Establishing a universal
basicincome

Auniversal basicincome (UBI) is a
guaranteed minimumincome level - and
when necessary, paid by the government to
eachindividualin society

Minimum income for all —
better education/healthcare
— betterhuman capital —
improved labour offer —
decreasing unemployment

Targeted government
spending on
goods/services

This can be aimed at the greatest needsin
society

E.g. Providing more schools, teachers or
hospitals

Higher education/skill levels
— higher human capital —
increased productivity —
higher output — higher
income

Policies to reduce
discrimination

Discrimination occursin many different
forms (age, ethnicity, gender, disability etc)
andin each case resultsin social exclusion
leading to inequalities of opportunity and
income

Reducing discriminationreduces inequality

Less discrimination —
better productivity — higher
wages
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